Appendix B

To generate Pictures 2.1-2.2, we used for the stretch A and the Biot stress
f =1t/X (with t the principal stress) the following data

1 102 1.12 124 139 158 1.9 218 242
0 026 137 23 323 416 5.1 6 6.9

3.02 3.57 4.03 476 536 575 6.15 64
8.8 10.7 125 16.2 199 236 274 31
6.6 685 7.05 715 725 74 75 7.6

34.8 385 42.1 458 49.6 53.3 57 644

> > >

To generate Pictures 2.3-2.4, we used for the stretch A and for the Biot stress
divided for A, f/\, the following data

A 1 1.027 1.065 1.115 1.14 1.20 1.31 1.42 1.68
f/A 0 092 150 217 230 277 338 3.65 3.93

A 1.94 249 3.03 343 3.75 4.07 426 4.45
f/A 1401 393 417 428 4.64 494 527 554

I thank Professor Ogden for having given me the above data.
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